MISSISSIPPI DEPARTMENT OF FINANCE AND ADMINISTRATION OFFICE OF PURCHASING AND TRAVEL JACKSON

STATE CONTRACT NO. 5-600-25519-14

CONTRACTOR: Lexmark International, Inc. DATE: August 1, 2014

ITEMS: Lexmark Copy Machines and EFFECTIVE: May 1, 2014

Related Supplies through

April 30, 2015

AMENDMENT EFFECTIVE: August 1, 2014

A. AUTHORITY

This certifies that a contract has been executed between the Department of Finance and Administration, Office of Purchasing and Travel for the State of Mississippi and the herein designated Contractor pursuant to Section 31-7-7, Mississippi Code of 1972, Annotated, for the items specified herein.

B. <u>EFFECT</u>

During the term of this contract no purchase of copy machines and related supplies manufactured and/or distributed by the above-designated Contractor shall be made by state agencies at a price in excess of that established by the prices set out in this regulation (See Section "F").

Commodities purchased under provisions of this contract from the above Contractor or his authorized distributors shall be exempt from competitive bid requirements otherwise applying to purchases by the state agencies, counties, municipalities and other political subdivisions.

C. PURCHASE ORDERS

Purchase orders prepared by the various state agencies shall show the state contract number on the P. O. in the designated space, quantity, description of the items and prices, also shipping or delivery instructions, if any.

D. PAYMENT

The supplier shall be paid by the ordering agency upon submission of properly certified invoices or vouchers for articles or services delivered and accepted less deductions, if any, as provided.

E. ORDERING

Purchasers shall order in such quantities as required. Purchase orders are to be directed to address of Contractor or Distributors shown in Section "J". The Bureau of Financial Control of the State shall not approve any account nor order and direct payment of any account for the purchase of any commodity covered by this contract certification when the purchase price is in excess of the maximum price fixed in this purchasing regulation.

F. PRICES

Prices for the amendment period are set forth on the following price list. The following information on multi-functional devices and networking copiers is also considered to be part of this agreement.

Multi-Functional Devices and Networking Copiers

In the past, a copier was clearly a copier and a computer printer was clearly a computer printer. However, as technology advances, the line of distinction has become not so clear. Because of this "twilight zone," Information Technology Services (ITS) and the Office of Purchasing and Travel (OPT) have set forth the following policy guideline: If a machine can be used as a walk-up copier and published product literature indicates that one of its primary functions is copying documents, then that machine can be included in the OPT Copier Contract. It is intended that this policy will allow copiers with computer interface, facsimile and digitizing features to be placed on the OPT contract. In addition, it is intended that this policy will allow equipment commonly called "multi-functional" to also be included in the OPT contract. ITS will continue to manage purchasing for their established classes of computer and communications peripherals.

In situations where a state agency or institution under ITS purview intends to use the machine interfaced with a computer or in a network configuration primarily in a traditional information systems application capacity, and the total amount of the purchase/rental exceeds \$250,000, the agency or institution must first contact ITS through the formal procurement exemption request process. In the request, the agency or institution may express a desire to use the OPT state contract to fulfill its technical needs. ITS will work with the requesting entity toward reaching a consensus as to technical appropriateness of equipment from the OPT contract in each given case. ITS will approve the exemption request if appropriate. If ITS does not concur with the exemption, then the project will be handled through standard ITS policies and procedures in lieu of the OPT state contract. If the total amount of the purchase/rental does not exceed \$250,000, ITS approval is no longer required. "Total amount of the purchase" shall mean the cost of the copier and all attachments. "Total amount of the rental" shall mean the monthly cost of the copier and all attachments multiplied by the term of the rental agreement.

Product literature may be obtained from the Contractor.

G. TRANSPORTATION

F.O.B. destination, freight prepaid.

H. POLITICAL SUBDIVISIONS - COUNTIES, MUNICIPALITIES, SCHOOLS, ETC.

This contract provides that the provisions thereof may be available to any county, municipality, school board or other local public agency or authority of the State of Mississippi which may elect to purchase at the prices, terms and conditions of sale specified therein. Any such agency or political subdivisions electing to purchase as herein provided shall write the following on the face of the purchase order:

"P. O. issued pursuant to provisions of Mississippi State Contract No. 5-600-25519-14."

I. TERMS

Net Forty-five (45) days

J. CONTRACTOR

Please place all orders under this agreement with the following:

A list of authorized distributors is included with the following price list.



Part Number **Product** MAP Lexmark Printers at a Glance **Monochrome Laser Printers MFP Solutions** LEXMARK XM1145 MFP 35S5705 \$ 1,516.00 35S6830 LEXMARK XM3150 MFP \$ 2,459.00 24T8400 LEXMARK XM5163 MFP \$ 3,588.00 24T8401 LEXMARK XM5170 MFP \$ 4,614.00 24T8402 LEXMARK XM7155 MFP \$ 5,742.00 24T8350 LEXMARK XM7155x MFP \$ 6,644.00 LEXMARK XM7163 MFP 24T8403 \$ 6,767.00 24T8351 LEXMARK XM7163x MFP \$ 7,670.00 24T8404 LEXMARK XM7170 MFP \$ 7,793.00 24T8352 LEXMARK XM7170x MFP \$ 8,695.00 19Z0187 LEXMARK XS860de 4 MFP \$ 7,579.00 19Z0189 LEXMARK XS864de 4 MFP \$15,410.00 28E0600 LEXMARK XC2132 MFP \$ 2,459.00 34T5123 LEXMARK XS748de Color MFP \$ 2,499.00 LEXMARK XS795dte Color MFP 47B1287 \$ 6,400.00 \$ 7,850.00 47B1216 LEXMARK XS798dte Color MFP 22Z0022 LEXMARK XS955dhe Color MFP \$20,211.11 MFP Solutions 35S5705 LEXMARK XM1145 MFP \$ 1,516.00 Network ready; Print, copy, scan, fax; Duplex standard; Print up to 45 ppm; 800 MHz Dual-core Processor; 512MB RAM; 4.3-inch color LCD touch screen; legal-size flatbed scanner; 1200 x 1200 dpi; 250-sheet input; 150sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 2,000 to 12,000 pages per month recommended; quiet and eco modes 24T8400 \$ 2,459.00 LEXMARK XM3150 MFP Network ready; Print, copy, scan and fax; Duplex standard; Print up to 50 ppm; 800 MHz Dual-core Processor; 1GB RAM; 7.0-inch color LCD touch screen; legal-size flatbed scanner; 1200 x 1200 dpi; 550-sheet input; 250sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 2,000 to 15,000 pages per month recommended; quiet and eco modes 24T8401 LEXMARK XM5163 MFP \$ 3,588.00 Network ready; Print, copy, scan and fax; Duplex standard; Print up to 63 ppm; 800 MHz Dual-core Processor; 512MB RAM; 7.0-inch customizable e-Task touch screen; legal-size flatbed scanner; 1200 x 1200 dpi; 550-sheet input; 550-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 5,000 to 25,000 pages per

month recommended; quiet and eco modes



Part Number Product MAP

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 70 ppm; 800 MHz Dual-core Processor; 1GB RAM; 10.2-inch customizable e-Task touch screen; legal-size flatbed scanner; 1200 x 1200 dpi; 550-sheet input; 550-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 5,000 to 25,000 pages per month recommended; quiet and eco modes

24T8350 LEXMARK XM7155 MFP

\$ 5,742.00

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 55 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 1,100-sheet input; 550-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 5,000 to 35,000 pages per month recommended; quiet and eco modes

24T8403 LEXMARK XM7155x MFP

\$ 6,644.00

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 55 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 2,650-sheet input; 950-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 5,000 to 35,000 pages per month recommended; quiet and eco modes

24T8351 LEXMARK XM7163 MFP

\$ 6,767.00

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 63 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 1,100-sheet input; 1,050-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 5,000 to 35,000 pages per month recommended; quiet and eco modes

24T8404 LEXMARK XM7163x MFP

\$ 7,670.00

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 63 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 2,650-sheet input; 1,050-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 5,000 to 35,000 pages per month recommended; quiet and eco modes

24T8352 LEXMARK XM7170 MFP

\$ 7,793.00

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 70 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 1,100-sheet input; 1,050-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 5,000 to 35,000 pages per month recommended; quiet and eco modes



Part Number	Product	MAP
19Z0187	LEXMARK XM7170x MFP Network ready; Print, copy, scan and fax; Duplex standard; Print up to 70 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 1,100-sheet input; 1,050-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 5,000 to 35,000 pages per month recommended; quiet and eco modes	\$ 8,695.00
19Z0189	LEXMARK XS860de 4 MFP Network-ready; 35 ppm print, copy, fax, and scan up to 55 ppm; 800MHz Processor; 256MB RAM, 80+GB hard disk, 1200 x 1200 dpi; 1,100-sheet input; 100-sheet multipurpose feeder; time to first page as fast as 6 seconds; 500-sheet output; flatbed scanner with 75-sheet recirculationg automatic document feeder; USB and Ethernet; Front USB Direct port; PostScript 3 and PCL 6 emulations, PPDS Migration Tool; 10,000 to 39,000 pages per month recommend monthly usage; ships with 35,000-page	\$ 7,579.00
28E0600	LEXMARK XS864de 4 MFP Network-ready; 55 ppm print, copy, fax, and scan up to 55 ppm; 800MHz Processor; 256MB RAM, 80+GB hard disk, 1200 x 1200 dpi; 1,100-sheet input; 100-sheet multipurpose feeder; time to first page as fast as 6 seconds; 500-sheet output; flatbed scanner with 75-sheet recirculationg automatic document feeder; USB and Ethernet; Front USB Direct port; PostScript 3 and PCL 6 emulations, PPDS Migration Tool; 10,000 to 39,000 pages per month recommend monthly usage; ships with 35,000-page	\$15,410.00
34T5123	LEXMARK XC2132 MFP Network ready; Print, copy, scan, fax; Duplex standard; Print up to 32 ppm; 800 MHz Dual-core Processor; 512MB RAM; 4.3-inch color LCD touch screen; legal-size flatbed scanner; 1200 x 1200 dpi; 250-sheet input; 150- sheet output; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; pages per month recommended; quiet and eco modes	\$ 2,459.00
47B1287	LEXMARK XS748de Color MFP Print, copy, scan and fax; up to 35 ppm black or color printing; Legal-size, flatbed duplex scanner; Time to first print as fast as 9 seconds; 1.2GHz Processor; USB, Gigabit Ethernet, USB Direct port for printing or scanning; duplex printing and scanning standard; 550-sheet tray and 100-sheet multipurpose feeder standard input, 250-sheet output, 50-sheet automatic document feeder; PostScript 3, PCL 6, XPS, HTML, Direct image; 512MB memory standard; 1200 x 1200 dpi printing; Ships with 6,000-page color and 6,000-page black cartridges, Eco-Mode and Quiet Mode available	\$ 2,499.00
47B1216	LEXMARK XS795dte Color MFP	\$ 6,400.00



Part Number Product MAP

Print, copy, scan and fax; 10.2-inch LCD touch panel; Duplex printing standard; Up to 37 ppm black or color; 1.2GHz Processor; 1GB RAM; 160GB hard drive; 1200 x 1200 dpi; 550-sheet input from 1 drawer and 100-sheet multipurpose feede; 500-sheet output bin; Legal-size flatbed scanner with 75-sheet automatic document feeder; Single-pass duplex scanning; Time to first page as fast as 9 seconds for black or 10 seconds for color; USB and Gigabit Ethernet; Front USB direct print port; PostScript 3 and PCL 6 emulations, XPS and PPDS Migration Tool; 2,500 to 17,000 pages per month recommend monthly usage, 150,000 pages maximum monthly duty cycle; Ships with 12,000-page black and color cartridges

24T7424 LEXMARK XS798dte Color MFP

\$ 7,850.00

Print, copy, scan and fax; 10.2-inch LCD touch panel; Duplex printing standard; Up to 50 ppm black or color; 1.2GHz Processor; 1GB RAM; 160GB hard drive; 1200 x 1200 dpi; 1,650-sheet input from three drawers and 100-sheet multipurpose feede; 500-sheet output bin; Legal-size flatbed scanner with 75-sheet automatic document feeder; Single-pass duplex scanning; Time to first page as fast as 8 seconds for black or 9 seconds for color; USB and Gigabit Ethernet; Front USB direct print port; PostScript 3 and PCL 6 emulations, XPS and PPDS Migration Tool; 2,500 to 17,000 pages per month recommend monthly usage, 150,000 pages maximum monthly duty cycle; Ships with 12,000-page black and color cartridges

22Z0022 LEXMARK XS955dhe Color MFP

\$20,211.11

Network ready; duplex standard; 55 ppm black or 50 ppm color; 1.2GHz Processor; 2GB RAM; 1200 x 1200 dpi printing; 3,140-sheet input (520-sheet drawer, 100-sheet multipurpose feeder and 2,520-sheet (1,133-, 867-and 520-sheet trays)) module; 500-sheet output; 110-sheet automatic document feeder; USB and Gigabit Ethernet; PostScript 3 and PCL 6 emulations and PPDS Migration Tool, USB direct interface; standard and booklet finisher options; 5,000 to 33,000 pages per month recommend month, 250,000 monthly duty cycle; ships with 16,000-page black and 11,000-page color starter cartridges.

LEXMARK XM3150 Options and supplies

35S0267	250-Sheet Tray	\$ 129.00
35S0567	550-Sheet Tray	\$ 199.00
35S8000	MX610 Series Stapler Option	\$ 299.00
3073173	Swivel Cabinet	\$ 249.00
35\$8502	Adjustable Printer Stand	\$ 299.00
27X0210	Lexmark 160GB Hard Drive	\$ 479.00
	Supply Items	
24B6186	M/XM 31 Series Toner	\$ 142.00
24B6040	M/XM 11 & 31 Series Imaging Kit	\$ 45.00
35S8500	5 Staple Cartridges	\$ 41.99

Routine Maintenance Items



Dowt Number	Dundrich		MAD
Part Number 40X9137	Product 110V Maintenance Kit	\$	MAP 327.76
40X9137 40X6247	ADF Separator Pad	\$ \$	15.33
	·		
40X9108	ADF Separator Roller	\$	13.49
	LEXMARK XM5163 Options and Supplies		
40G0800	250-Sheet Tray	\$	199.00
40G0801	250-Sheet Tray Insert	\$	79.00
40G0802	550-Sheet Tray	\$	249.00
40G0803	550-Sheet Tray Insert	\$	99.00
40G0804	2100-Sheet Tray	\$	499.00
40G0820	250-Sheet Lockable Tray	\$	239.00
40G0822	550-Sheet Lockable Tray	\$	299.00
40G0854	Spacer	\$	69.00
40G0855	Caster Base	\$	349.00
3073173	Swivel Cabinet	\$	249.00
27X0200	Lexmark 160GB Hard Drive	\$	479.00
	Supply Items		
24B6015	M/XM 51 Series Toner	\$	258.00
24B6025	M/XM 51 & 71 Series Imaging Kit	\$	48.00
	Routine Maintenance Items		
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	\$	332.22
40X8431	ADF Maintenance Kit	\$	194.63
	LEVAGABLE VAGEATO Complian		
25027	LEXMARK XM5170 Supplies	Φ.	100.00
35S0267	250-Sheet Tray	\$	129.00
35S0567	550-Sheet Tray	\$	199.00
35S8000	MX610 Series Stapler Option	\$	299.00
3073173	Swivel Cabinet	\$	249.00
35S8502	Adjustable Printer Stand	\$ \$	299.00
27X0210	Lexmark 160GB Hard Drive	Þ	479.00
0.45/40/	Supply Items		4.40.00
24B6186	M/XM 31 Series Toner	\$	142.00
24B6040	M/XM 11 & 31 Series Imaging Kit	\$	45.00
35S8500	5 Staple Cartridges	\$	41.99
	Routine Maintenance Items		
40X9137	110V Maintenance Kit	\$	327.76
40X6247	ADF Separator Pad	\$	15.33
40X9108	ADF Separator Roller	\$	13.49
	LEXMARK XM5163 Supplies		
40G0800	250-Sheet Tray	\$	199.00
40G0801	250-Sheet Tray Insert	\$	79.00
40G0802	550-Sheet Tray	\$	249.00
40G0803	550-Sheet Tray Insert	\$	99.00
40G0804	2100-Sheet Tray	\$	499.00
40G0820	250-Sheet Lockable Tray	\$	239.00
40G0822	550-Sheet Lockable Tray	\$	299.00
40G0854	Spacer	\$	69.00
40G0855	Caster Base	\$	349.00
3073173	Swivel Cabinet	\$	249.00
27X0200	Lexmark 160GB Hard Drive	\$	479.00
	Supply Items		



	Durden!		NAAD
Part Number	Product M/VM F1 Corios Topor	¢	MAP
24B6015 24B6025	M/XM 51 Series Toner M/XM 51 & 71 Series Imaging Kit	\$ \$	258.00 48.00
2400023	Routine Maintenance Items	Ф	40.00
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	\$	332.22
40X8420 40X8431	ADF Maintenance Kit	\$	194.63
40/0431	ADI Maintenance Kit	Ψ	174.03
	LEXMARK XM7155 Options and supplies		
24T7300	MX810, MX811, MX812 550-Sheet Tray	\$	249.00
24T7350	MX810, MX811, MX812 2100-Sheet Tray	\$	499.00
24T8999	Offset Stacker	\$	149.00
40G0850	MS810, MS811, MS812 Staple Finisher	\$	299.00
40G0852	MS810, MS811, MS812 4-Bin Mailbox	\$	299.00
	Supply Items		
24B6020	XM 71 Series Toner	\$	181.00
24B6025	M/XM 51 & 71 Series Imaging Kit	\$	48.00
25A0013	Staples (3 pack)	\$	104.99
	Routine Maintenance Items		
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	\$	332.22
40X8431	ADF Maintenance Kit	\$	194.63
	LEXMARK XM7155x options and supplies		
24T8999	Offset Stacker	\$	149.00
40G0850	MS810, MS811, MS812 Staple Finisher	\$	299.00
40G0852	MS810, MS811, MS812 4-Bin Mailbox	\$	299.00
	Supply Items		
24B6020	XM 71 Series Toner	\$	181.00
24B6025	M/XM 51 & 71 Series Imaging Kit	\$	48.00
25A0013	Staples (3 pack)	\$	104.99
4070400	Routine Maintenance Items	Φ.	222.22
40X8420 40X8431	Return Program Fuser Maint. Kit Type 11, 110-120V ADF Maintenance Kit	\$ \$	332.22 194.63
40,6431	ADF Maintenance Kit	Ф	194.03
	LEXMARK XM7163 options and supplies		
24T7300	MX810, MX811, MX812 550-Sheet Tray	\$	249.00
24T7350	MX810, MX811, MX812 2100-Sheet Tray	\$	499.00
24T8999	Offset Stacker	\$	149.00
40G0850	MS810, MS811, MS812 Staple Finisher	\$	299.00
40G0852	MS810, MS811, MS812 4-Bin Mailbox	\$	299.00
	Supply Items		
24B6020	XM 71 Series Toner	\$	181.00
24B6025	M/XM 51 & 71 Series Imaging Kit	\$	48.00
25A0013	Staples (3 pack)	\$	104.99
	Routine Maintenance Items		
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	\$	332.22
40X8431	ADF Maintenance Kit	\$	194.63
	LEXMARK XM7163x options and supplies		
24T8999	Offset Stacker	\$	149.00
40G0850	MS810, MS811, MS812 Staple Finisher	\$	299.00
40G0852	MS810, MS811, MS812 4-Bin Mailbox	\$	299.00
0.45	Supply Items		404
24B6020	XM 71 Series Toner	\$	181.00



Part Number	Product		MAP
24B6025	M/XM 51 & 71 Series Imaging Kit	\$	48.00
25A0013	Staples (3 pack)	\$	104.99
	Routine Maintenance Items	*	
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	\$	332.22
40X8431	ADF Maintenance Kit	\$	194.63
	LEXMARK XM7170 options and supplies		
24T7300	MX810, MX811, MX812 550-Sheet Tray	\$	249.00
24T7350	MX810, MX811, MX812 2100-Sheet Tray	\$	499.00
24T8999	Offset Stacker	\$	149.00
40G0850	MS810, MS811, MS812 Staple Finisher	\$	299.00
40G0852	MS810, MS811, MS812 4-Bin Mailbox	\$	299.00
0.40.4000	Supply Items		101.00
24B6020	XM 71 Series Toner	\$	181.00
24B6025	M/XM 51 & 71 Series Imaging Kit	\$	48.00
25A0013	Staples (3 pack)	\$	104.99
407/0400	Routine Maintenance Items	Φ.	222.22
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	\$	332.22
40X8431	ADF Maintenance Kit	\$	194.63
	LEXMARK XM7170x options and supplies		
24T7300	MX810, MX811, MX812 550-Sheet Tray	\$	249.00
24T7350	MX810, MX811, MX812 2100-Sheet Tray	\$	499.00
24T8999	Offset Stacker	\$	149.00
40G0850	MS810, MS811, MS812 Staple Finisher	\$	299.00
40G0852	MS810, MS811, MS812 4-Bin Mailbox	\$	299.00
	Supply Items		
24B6020	XM 71 Series Toner	\$	181.00
24B6025	M/XM 51 & 71 Series Imaging Kit	\$	48.00
25A0013	Staples (3 pack)	\$	104.99
	Routine Maintenance Items		
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	\$	332.22
40X8431	ADF Maintenance Kit	\$	194.63
	LEXMARK XS860de 4 options and supplies		
15R0140	Cabinet	\$	199.00
15R0146	2 x 500 Sheet Drawer	\$	899.00
15R0120	2000 Dual Input Drawer 2000 Sheet High Capacity Feeder		1,399.00
15R0145 15R0335	2/3 Hole Booklet Finisher		1,249.00 2,699.00
15R0333	2/3 Hole Finisher		1,375.00
10110111	Supply Items	Ψ	1,070.00
19Z0022	XS86x - 35K toner cartridge	\$	204.00
19Z0023	XS86x - Photoconductor Kit	\$	163.00
21Z0357	Booklet Staples (4 cartridges of 5000)	\$	177.50
25A0013	Staple Pack (3 cartridges of 5000)	\$	129.69
	Routine Maintenance Items		
\$290.00	Fuser Maintenance Kit LV (Core Exchange)	\$	290.00
\$154.36	ADF Maintenance Kit	\$	154.36
	LEXMARK XS864de 4 options and supplies		
15R0140	Cabinet	\$	199.00



Part Number	Product		MAP
15R0146	2 x 500 Sheet Drawer	\$	899.00
15R0120	2000 Dual Input Drawer		1,399.00
15R0145	2000 Sheet High Capacity Feeder		1,249.00
15R0335	2/3 Hole Booklet Finisher		2,699.00
15R0144	2/3 Hole Finisher		1,375.00
	Supply Items		,
19Z0022	XS86x - 35K toner cartridge	\$	204.00
19Z0023	XS86x - Photoconductor Kit	\$	163.00
21Z0357	Booklet Staples (4 cartridges of 5000)	\$	177.50
25A0013	Staple Pack (3 cartridges of 5000)	\$	129.69
	Routine Maintenance Items		
\$290.00	Fuser Maintenance Kit LV (Core Exchange)	\$	290.00
\$154.36	ADF Maintenance Kit	\$	154.36
Ţ.5G	ADI Waliterianee Kit	*	
	LEXMARK XC2132 options and supplies		
38C0626	CS310, CS410, CS510, CX310, CX410, CX510 650-Sheet Duo Tray	\$	227.14
38C0636	CS410, CS510, CX410, CX510 550-Sheet Tray	\$	227.14
35\$8502	Adjustable Printer Stand	\$	384.29
57X9016	1GBx32 DDR3 RAM	\$	90.00
57X9012	2GBx32 DDR3 RAM	\$	112.86
57X9101	256MB User Flash Memory	\$	67.14
	Supply Items		
24B6011	Black Toner	\$	137.00
24B6008	Cyan toner	\$	115.00
24B6010	Yellow toner	\$	115.00
24B6009	Magenta Toner	\$	115.00
C540x75G	Waste	\$	12.00
	Routine Maintenance Items		
7pc0Z50	Black Imaging kit (Drum and developer)	\$	289.55
40X7615	Mainteance Kit	\$	360.25
	LEXMARK XS748de options and supplies		
27S2100	Lexmark C746/C748 550-Sheet Drawer	\$	299.00
27S2400	Lexmark C748 2000 Sheet High Capacity Feeder	\$	599.00
27S2650	Lexmark C746/C748 550-Sheet Specialty Media Drawer	\$	359.00
27X0014	Lexmark 160GB Hard Drive	\$	479.00
27S2190	Lexmark Spacer	\$	109.00
34T5114	Lexmark C/X74x Caster Base	\$	349.00
3052765	Lexmark Swivel Cabinet	\$	249.00
	Supply Items		
24B5807	CS/XS73x Black High Yield Return Program Cartridge (12k)	\$	220.30
24B5804	CS/XS73x Cyan High Yield Return Program Cartridge (10k)	\$	384.03
24B5805	CS/XS73x Magenta High Yield Return Program Cartridge (10k)	\$	384.03
24B5806	CS/XS73x Yellow High Yield Return Program Cartridge (10k)	\$	384.03
C734X20G	Lexmark Photoconductor Unit, 1-Pack (20k)	\$	32.99
C734X24G	Lexmark Photoconductor Unit, 4-Pack (20k each)	\$	117.99
C734X77G	Lexmark Waste Toner Box (25k)	\$	9.99
	Routine Maintenance Items		
40X8110	Fuser Maintenance Kit	\$	195.54
40X8307	ITU - Transfer Belt Maintenance Kit	\$	265.24
40X5187	ADF Separator Pad	\$	9.61
40X5188	ADF Pick Roller Assembly	\$	49.67
40X5189	ADF Pick Pad	\$	3.46



Part Number	Product	MAP
	LEXMARK XS795dte options and supplies	
47B0110	C792, X792 550-Sheet Drawer	\$ 349.00
47B0111	C792, X792 2000-Sheet High Capacity Feeder	\$ 899.00
47B0118	C792, X792 Banner Media Tray	\$ 499.00
47B1100	C792, X792 Staple Finisher	\$ 699.00
47B1101	C792, X792 5-Bin Mailbox	\$ 699.00
47B1102	C792, X792 High Capacity Output Stacker	\$ 549.00
47B1103	C792, X792 Staple Finisher with Hole Punch	\$ 999.00
47B0114	C792, X792 Caster Base	\$ 349.00
47B0112	C792, X792 Spacer	\$ 169.00
27X0025	MarkNet N8250 802.11b/g/n Wireless Print Server	\$ 449.00
	Supply Items	
24B6022	XS795/798 Black Print Cartridge Extra High Yield Return	\$ 129.00
24B6018	XS795/798 Cyan Print Cartridge Extra High Yield Return	\$ 420.00
24B6019	XS795/798 Magenta Print Cartridge Extra High Yield Return	\$ 420.00
24B6021	XS795/798 Yellow Print Cartridge Extra High Yield Return	\$ 420.00
C792X77G	C792, X792 Waste Toner Bottle (Yield 180k black / 50k color)	\$ 16.12
25A0013	Staple Pack (3 cartridges of 5000)	\$ 129.69
	Routine Maintenance Items	
40X7100	Fuser Maintenance Kit	\$ 292.94
40X7103	Transfer Module Maintenance Kit	\$ 312.15
40X7220	ADF Maintenance Kit	\$ 32.33
	LEXMARK XS798dte options and supplies	
47B0110	C792, X792 550-Sheet Drawer	\$ 349.00
47B0111	C792, X792 2000-Sheet High Capacity Feeder	\$ 899.00
47B0118	C792, X792 Banner Media Tray	\$ 499.00
47B1100	C792, X792 Staple Finisher	\$ 699.00
47B1101	C792, X792 5-Bin Mailbox	\$ 699.00
47B1102	C792, X792 High Capacity Output Stacker	\$ 549.00
47B1103	C792, X792 Staple Finisher with Hole Punch	\$ 999.00
47B0114	C792, X792 Caster Base	\$ 349.00
47B0112	C792, X792 Spacer	\$ 169.00
27X0025	MarkNet N8250 802.11b/g/n Wireless Print Server	\$ 449.00
	Supply Items	
24B6022	XS795/798 Black Print Cartridge Extra High Yield Return	\$ 129.00
24B6018	XS795/798 Cyan Print Cartridge Extra High Yield Return	\$ 420.00
24B6019	XS795/798 Magenta Print Cartridge Extra High Yield Return	\$ 420.00
24B6021	XS795/798 Yellow Print Cartridge Extra High Yield Return	\$ 420.00
C792X77G	C792, X792 Waste Toner Bottle (Yield 180k black / 50k color)	\$ 16.12
25A0013	Staple Pack (3 cartridges of 5000)	\$ 129.69
	Routine Maintenance Items	
40X7100	Fuser Maintenance Kit	\$ 292.94
40X7103	Transfer Module Maintenance Kit	\$ 312.15
40X7220	ADF Maintenance Kit	\$ 32.33
	LEXMARK XS798dte options and supplies	
22Z0015	Lexmark C950, X950 2,000-Sheet High Capacity Feeder A4	\$ 1,199.00
22Z0016	Lexmark C950, X950 Standard Finisher 3-Hole	\$ 1,999.00
22Z0017	Lexmark C950, X950 Booklet Finisher 3-Hole	\$ 3,199.00
27X0025	Lexmark MarkNet N8250 802.11b/g/n Wireless Print Server	\$ 449.00
	Supply Items	



V			14AB
Part Number		.	MAP
22Z0008	XS955dhe Black High Yield Toner Cartridge	\$	132.31
22Z0009	XS955dhe Cyan High Yield Toner Cartridge	\$	626.12
22Z0010	XS955dhe Magenta High Yield Toner Cartridge	\$	626.12
22Z0011	XS955dhe Yellow High Yield Toner Cartridge	\$	626.12
C950X71G	Lexmark C950, X950, X952, X954 Black Photoconductor Kit	\$	264.99
C950X73G	Lexmark C950, X950, X952, X954 Color Photoconductor Kits	\$	791.99
C950X76G	Lexmark C950, X950, X952, X954 Waste Container	\$	32.99
25A0013	Lexmark Standard Staple Cartridges	\$	129.69
21Z0357	Lexmark Booklet Staple Cartridges	\$	177.50
40V7F40	Routine Maintenance Items	Φ.	077 14
40X7540	Lexmark C950, X950, X952, X954 160K Maintenance Kit	\$	277.14
40X7550	Lexmark C950, X950, X952, X954 Fuser Maintenance Kit	\$	801.11
40X7560	Lexmark C950, X950, X952, X954 Maintenance Kit		2,347.18
40X7530	Lexmark X950, X952, X954 ADF Maintenance Kit	\$	180.07
	Memory Options Lexmark Memory		
1022298	128MB DDR SDRAM DIMM	\$	579.00
1022299	256MB DDR SDRAM DIMM	\$	
1022301	512MB DDR SDRAM DIMM	\$	599.00
1025041	256MB DDR II SDRAM DIMM	\$	599.00
1025042	512MB DDR II SDRAM DIMM	\$	599.00
1025043			859.00
13N1523			579.00
13N1524			599.00
13N1526			599.00
57X9016	1GBx32 DDR3 RAM	\$	79.00
57X9012	2GBx32 DDR3 RAM	\$	99.00
57X9014	512MB DDR3 SO-DIMM	\$	59.00
57X9011	1GB DDR3 SO-DIMM	\$	79.00
14F0245	256MB User Flash Memory	\$	399.00
57X9101	256MB User Flash Memory	\$	59.00
27X0014	160GB Hard Drive	\$	479.00
27X0200	160+GB Hard Disk	\$	479.00
27X0200 27X0210	160+GB Hard Disk	\$	479.00
	Application Solutions Options - All MFPs		
	For XM & MX Series		
38C5050	CX310 Forms and Bar Code Card	\$	379.00
38C5051	CX310 PRESCRIBE Card	\$	199.00
38C5052	CX410 Forms and Bar Code Card	\$	379.00
38C5053	CX410 PRESCRIBE Card	\$	199.00
38C5054	CX510 Forms and Bar Code Card	\$	379.00
38C5055	CX510 PRESCRIBE Card	\$	199.00
24T7351	MX71x/MX81x Forms and Bar Code Card	\$	379.00
24T7352	MX71x/MX81x IPDS Card	\$	569.00
24T7353	MX71x/MX81x PRESCRIBE Card	\$	199.00
35\$5888	MX410, MX510, MX511 Forms and Bar Code Card	\$	379.00
35S6850	MX610/MX611 Forms and Bar Code Card	\$	379.00



Doub Namebon	Dundrusk		MAD
Part Number	Product MX410/MX510/MX511 Card for IPDS		MAP
35\$5889		\$ \$	569.00
35\$6851	MX610/MX611 Card for IPDS		569.00
35\$5890	MX410/MX510/MX511 PRESCRIBE Card	\$ \$	199.00
35S6852	MX610/MX611 PRESCRIBE Card	\$	199.00
22G0350	X644e / X646e Bar Code Card	\$	362.00
22G0351	X644e / X646e Card of IPDS and SCS/Tne	\$	565.00
22G0352	X644e//x646e/X646dte PrintCryption Card	\$	218.00
22G0354	X644e / X646e PRESCRIBE Card	\$	199.00
22G0353	X644e / X646e Forms Card	\$	380.00
21J0577	X782e Bar Code Card	\$	362.00
21J0579	X782e Card for IPDS and SCS/Tne	\$	899.00
21J0578	X782e Forms Card	\$	380.00
21Z0367	X94xe Bar Code and Forms Card	\$	379.00
21Z0368	X94xe Card for IPDS and SCS/Tne	\$	899.00
21Z0370 X94xe PrintCryption Card		\$	218.00
26G0050	Lexmark X548 Forms and Bar Code Card	\$	379.00
26G0051	Lexmark X548 Card for IPDS	\$	899.00
26G0052	Lexmark X548 Card for PRESCRIBE Emulation	\$	199.00
MS00498	X734e and X736e IPDS	\$	565.00
MS00497	X734e and X736e Forms + Bar Code	\$	380.00
34T5120	Lexmark X746, X748 Series MFPs Forms and Bar Code Card	\$	380.00
34T5121	Lexmark X746, X748 Series MFPs Card for IPDS	\$	565.00
34T5122	Lexmark X746, X748 Series PRESCRIBE Card	\$	199.00
47B1110	X79X Forms and Bar Code Card	\$	380.00
47B1111	X79X Card for IPDS	\$	899.00
47B1112	X79X PRESCRIBE Card	\$	199.00
24Z0041	X925 Forms and Bar Code Card	\$	380.00
24Z0042	X925 IPDS Card	\$	899.00
24Z0043	X925 PRESCRIBE Card	\$	199.00
22Z0185	Lexmark X95x Forms and Bar Code Card	\$	379.00
22Z0186	Lexmark X95x Card for IPDS	\$	899.00
22Z0187	Lexmark X95x PRESCRIBE Card	\$	199.00
2467720	VA/Vo IDDC	¢	F/F 00
34\$7720	X46Xe IPDS X46Xe Forms + Bar Code	\$	565.00
34S7721 16M1253		\$	380.00
	X65x Forms & Bar Code	\$	380.00
16M1254	X65x IPDS Lexmark X65x Card for PRESCRIBE Emulation	\$ \$	565.00 199.00
16M0119			
19Z0031	X860de/X862de/X864de Card for IPDS and SCS/Tne	\$	565.00
19Z0030	X860de/X862de/X864de Forms and Bar Code Card	\$ \$	380.00
19Z4039	X860e, X862e, X864e PRESCRIBE Emulation	Þ	199.00
57X9000	Lexmark PrintCryption Card	\$	218.00
16A1092	Lexmark Forms Composer v3.3 CD		
	Lexmark - Print Servers & CAC Reader		
27X0025	MarkNet N8250 802.11b/g/n Wireless Print Server (US/Americas)	\$	449.00
14F0037	MarkNet N8120 Gigabit Ethernet Print Server	\$	149.00
14F0042	MarkNet N8130 Fiber Ethernet Print Server	\$	499.00
57X0020	CAC Reader SF/MFP X46x, X65x, X73x, X792, X86x, X925, X945	\$	498.00
27X0225	MarkNet 8350 802.11 b/g/n Wireless Print Server	\$	199.00
27X0129	MarkNet 8352 802.11 b/g/n Wireless Print Server (MX310/MX410)	\$	49.00



Part Number	Part Number Product		MAP
27X0903	MarkNet 8350 802.11 b/g/n Wireless Print Server* (MX510/MX610)	\$	99.00
3053996	Large Pod for Lexmark PKI Card Reader	\$	26.99
11K2990	International Printing for mySAP Business Suite	\$	157.00

State of Mississippi Contract Lexmark Brand

	Otate of Mississippi Conti	uot	LUXIIIAIN	Diana			
Part Number	Control of the Contro		МАР			Yield Per Item	Net Cost Per Page
		Copies		Rer	ital Program	 Monthly Ra 	ites
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
35S5705	LEXMARK XM1145 MFP	45	\$1,516.00	\$98.54	\$76.41	1212.00	56.85
	Options and Accessories		•		<u> </u>		
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print		Included				
	Network Print		Included				
35S0267	250-Sheet Tray		\$129.00	\$8.39	\$6.50	\$5.42	\$4.84
35S0567	550-Sheet Tray		\$199.00	\$12.94	\$10.03	\$8.36	\$7.46
3073173	Swivel Cabinet		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
35S8502	Adjustable Printer Stand		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
27X0210	Lexmark 160GB Hard Drive		\$479.00	\$31.14	\$24.14	\$20.12	\$17.96
	Supply Items						
24B6035	M/XM 11 Series Toner		\$266.00			16,000	\$0.01663
24B6040	M/XM 11 & 31 Series Imaging Kit		\$45.00			60,000	\$0.00075
	Routine Maintenance Items	•					
40X9135	110V Maintenance Kit		\$327.76			200,000	\$0.00164
40X6247	ADF Separator Pad		\$15.33			90,000	
40X9108	ADF Separator Roller		\$13.49			220,000	\$0.00006

Ships with 5000 page toner cartridge & 60,000 page imaging unit Model Description

Network ready; Print, copy, scan, fax; Duplex standard; Print up to 45 ppm; 800 MHz Dual-core Processor; 512MB RAM; 4.3-inch color LCD touch screen; legal-size flatbed scanner; 1200 x 1200 dpi; 250-sheet input; 150-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; ; 2,000 to 12,000 pages per month recommended; quiet and eco modes

Part Number		Ouries	MAP			Yield Per Item	Net Cost Per Page
		Copies Minute		24 MO.	36Mo.	- Monthly Ra	tes 60Mo.
35S6830	LEXMARK XM3150 MFP	50	\$2,459.00	\$159.84	\$123.93	\$103.28	\$92.21
	Options and Accessories	50	ΨΞ, :σσ:σσ	V.00.0	¥120.00	V.00.20	40 2.21
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print		Included				
	Network Print		Included				
35S0267	250-Sheet Tray		\$129.00	\$8.39	\$6.50	\$5.42	\$4.84
35S0567	550-Sheet Tray		\$199.00	\$12.94	\$10.03	\$8.36	\$7.46
35S8000	MX610 Series Stapler Option		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
3073173	Swivel Cabinet		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
35S8502	Adjustable Printer Stand		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
27X0210	Lexmark 160GB Hard Drive		\$479.00	\$31.14	\$24.14	\$20.12	\$17.96
	Supply Items						
24B6186	M/XM 31 Series Toner		\$142.00			16,000	\$0.00888
24B6040	M/XM 11 & 31 Series Imaging Kit		\$45.00			60,000	\$0.00075
35S8500	5 Staple Cartridges		\$41.99			5,000	\$0.00840
	Routine Maintenance Items	•					
40X9137	110V Maintenance Kit		\$327.76			200,000	\$0.00164
40X6247	ADF Separator Pad		\$15.33			90,000	\$0.00017
40X9108	ADF Separator Roller		\$13.49			220,000	\$0.00006

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 50 ppm; 800 MHz Dual-core Processor; 1GB RAM; 7.0-inch color LCD touch screen; legal-size flatbed scanner; 1200 x 1200 dpi; 550-sheet input; 250-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; 2,000 to 15,000 pages per month recommended; quiet and eco modes

Part Number	Hall		МАР			Yield Per Item	Net Cost Per Page
		Copies		-	ntal Program		
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
24T8400	LEXMARK XM5163 MFP	63	\$3,588.00	\$233.22	\$180.84	\$150.70	\$134.55
	Options and Accessories	_					
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print		Included				
	Network Print		Included				
40G0800	250-Sheet Tray		\$199.00	\$12.94	\$10.03	\$8.36	\$7.46
40G0801	250-Sheet Tray Insert		\$79.00	\$5.14	\$3.98	\$3.32	\$2.96
40G0802	550-Sheet Tray		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
40G0803	550-Sheet Tray Insert		\$99.00	\$6.44	\$4.99	\$4.16	\$3.71
40G0804	2100-Sheet Tray		\$499.00	\$32.44	\$25.15	\$20.96	\$18.71
40G0820	250-Sheet Lockable Tray		\$239.00	\$15.54	\$12.05	\$10.04	\$8.96
40G0822	550-Sheet Lockable Tray		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
40G0854	Spacer		\$69.00	\$4.49	\$3.48	\$2.90	\$2.59
40G0855	Caster Base		\$349.00	\$22.69	\$17.59	\$14.66	\$13.09
3073173	Swivel Cabinet		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
27X0200	Lexmark 160GB Hard Drive		\$479.00	\$31.14	\$24.14	\$20.12	\$17.96
	Supply Items						
24B6015	M/XM 51 Series Toner		\$258.00			35,000	\$0.00737
24B6025	M/XM 51 & 71 Series Imaging Kit		\$48.00			100,000	\$0.00048
	Routine Maintenance Items			<u>.</u>			
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	1	\$332.22			200,000	\$0.00166
40X8431	ADF Maintenance Kit		\$194.63			120,000	\$0.00162

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 63 ppm; 800 MHz Dual-core Processor; 512MB RAM; 7.0-inch customizable e-Task touch screen; legal-size flatbed scanner; 1200 x 1200 dpi; 550-sheet input; 550-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; 5,000 to 25,000 pages per month recommended; quiet and eco modes

When installing a 2000 or 2100 sheet input option on ANY Lexmark model, the compatible caster base is required.

Part Number			МАР			Yield Per Item	Net Cost Per Page
		Copies		Rer	ntal Program	- Monthly Ra	tes
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
24T8401	LEXMARK XM5170 MFP	70	\$4,614.00	\$299.91	\$232.55	\$193.79	\$173.03
	Options and Accessories			•			
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print	1	Included				
	Network Print		Included				
40G0800	250-Sheet Tray		\$199.00	\$12.94	\$10.03	\$8.36	\$7.46
40G0801	250-Sheet Tray Insert		\$79.00	\$5.14	\$3.98	\$3.32	\$2.96
40G0802	550-Sheet Tray		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
40G0803	550-Sheet Tray Insert		\$99.00	\$6.44	\$4.99	\$4.16	\$3.71
40G0804	2100-Sheet Tray		\$499.00	\$32.44	\$25.15	\$20.96	\$18.71
40G0820	250-Sheet Lockable Tray		\$239.00	\$15.54	\$12.05	\$10.04	\$8.96
40G0822	550-Sheet Lockable Tray		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
40G0854	Spacer		\$69.00	\$4.49	\$3.48	\$2.90	\$2.59
40G0855	Caster Base		\$349.00	\$22.69	\$17.59	\$14.66	\$13.09
3073173	Swivel Cabinet		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
27X0200	Lexmark 160GB Hard Drive		\$479.00	\$31.14	\$24.14	\$20.12	\$17.96
	Supply Items						
24B6015	M/XM 51 Series Toner		\$258.00			35,000	\$0.00737
24B6025	M/XM 51 & 71 Series Imaging Kit		\$48.00			100,000	\$0.00048
	Routine Maintenance Items			•			
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120\	/	\$332.22			200,000	\$0.00166
40X8431	ADF Maintenance Kit		\$194.63			120,000	\$0.00162

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 70 ppm; 800 MHz Dual-core Processor; 1GB RAM; 10.2-inch customizable e-Task touch screen; legal-size flatbed scanner; 1200 x 1200 dpi; 550-sheet input; 550-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; 5,000 to 25,000 pages per month recommended; quiet and eco modes

When installing a 2000 or 2100 sheet input option on ANY Lexmark model, the compatible caster base is required.

Part Number			МАР			Yield Per Item	Net Cost Per Page
		Copies		Ren	tal Program	- Monthly Ra	ites
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
24T8402	LEXMARK XM7155 MFP	55	\$5,742.00	\$373.23	\$289.40	\$241.16	\$215.33
	Options and Accessories			-			
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print		Included				
	Network Print	1	Included				
24T7300	MX810, MX811, MX812 550-Sheet Tray		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
24T7350	MX810, MX811, MX812 2100-Sheet Tray		\$499.00	\$32.44	\$25.15	\$20.96	\$18.71
24T8999	Offset Stacker		\$149.00	\$9.69	\$7.51	\$6.26	\$5.59
40G0850	MS810, MS811, MS812 Staple Finisher		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
40G0852	MS810, MS811, MS812 4-Bin Mailbox		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
	Supply Items						
24B6020	XM 71 Series Toner		\$181.00			35,000	\$0.00517
24B6025	M/XM 51 & 71 Series Imaging Kit		\$48.00		_	100,000	\$0.00048
25A0013	Staples (3 pack)		\$104.99			15,000	\$0.00700
	Routine Maintenance Items						
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	1	\$332.22			200,000	\$0.00166
40X8431	ADF Maintenance Kit		\$194.63			120,000	\$0.00162

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 55 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 1,100-sheet input; 550-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; 5,000 to 35,000 pages per month recommended; quiet and eco modes

Requires Offset Stacker #24T8999, Stapler Finisher #40G0850, or 4-Bin Mailbox #40G0852
The 2100-Sheet Tray may be added to this model, but only after removing the lower 550-Sheet Tray

Part Number			МАР			Yield Per Item	Net Cost Per Page
		Copies				- Monthly Ra	
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
24T8350	LEXMARK XM7155x MFP	55	\$6,644.00	\$431.86	\$334.86	279.05	249.15
	Options and Accessories						
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print	1	Included				
	Network Print		Included				
24T8999	Offset Stacker		\$149.00	\$9.69	\$7.51	\$6.26	\$5.59
40G0850	MS810, MS811, MS812 Staple Finisher		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
40G0852	MS810, MS811, MS812 4-Bin Mailbox		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
	Supply Items						
24B6020	XM 71 Series Toner		\$181.00			35,000	\$0.00517
24B6025	M/XM 51 & 71 Series Imaging Kit		\$48.00			100,000	\$0.00048
25A0013	Staples (3 pack)		\$104.99			15,000	\$0.00700
	Routine Maintenance Items			<u> </u>			
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	1	\$332.22			200,000	\$0.00166
40X8431	ADF Maintenance Kit		\$194.63			120,000	\$0.00162

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 55 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 2,650-sheet input; 950-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; 5,000 to 35,000 pages per month recommended; quiet and eco modes

Requires Offset Stacker #24T8999, Stapler Finisher #40G0850, or 4-Bin Mailbox #40G0852

Part Number			МАР			Yield Per Item	Net Cost Per Page
		Copies		Rer	ntal Program	- Monthly Ra	tes
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
24T8403	LEXMARK XM7163 MFP	63	\$6,767.00	\$439.86	\$341.06	\$284.21	\$253.76
	Options and Accessories						
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print		Included				
	Network Print		Included				
24T7300	MX810, MX811, MX812 550-Sheet Tray		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
24T7350	MX810, MX811, MX812 2100-Sheet Tray		\$499.00	\$32.44	\$25.15	\$20.96	\$18.71
24T8999	Offset Stacker		\$149.00	\$9.69	\$7.51	\$6.26	\$5.59
40G0850	MS810, MS811, MS812 Staple Finisher		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
40G0852	MS810, MS811, MS812 4-Bin Mailbox		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
	Supply Items						
24B6020	XM 71 Series Toner		\$181.00			35,000	\$0.00517
24B6025	M/XM 51 & 71 Series Imaging Kit		\$48.00			100,000	\$0.00048
25A0013	Staples (3 pack)		\$104.99			15,000	\$0.00700
	Routine Maintenance Items						
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	,	\$332.22			200,000	\$0.00166
40X8431	ADF Maintenance Kit		\$194.63			120,000	\$0.00162

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 63 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 1,100-sheet input; 1,050-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; 5,000 to 35,000 pages per month recommended; quiet and eco modes

Requires Offset Stacker #24T8999, Stapler Finisher #40G0850, or 4-Bin Mailbox #40G0852

The 2100-Sheet Tray may be added to this model, but only after removing the lower 550-Sheet Tray

Part Number			МАР			Yield Per Item	Net Cost Per Page		
		Copies			ntal Program				
		Minute		24 MO.	36Mo.	48Mo.	60Mo.		
24T8351	LEXMARK XM7163x MFP	63	\$7,670.00	\$498.55	\$386.57	\$322.14	\$287.63		
	Options and Accessories								
	Fax Card		Included						
	Scan to network/ e-mail		Included						
	Duplex copy / Print		Included						
	Network Print		Included						
24T8999	Offset Stacker		\$149.00	\$9.69	\$7.51	\$6.26	\$5.59		
40G0850	MS810, MS811, MS812 Staple Finisher		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21		
40G0852	MS810, MS811, MS812 4-Bin Mailbox		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21		
	Supply Items								
24B6020	XM 71 Series Toner		\$181.00			35,000	\$0.00517		
24B6025	M/XM 51 & 71 Series Imaging Kit		\$48.00			100,000	\$0.00048		
25A0013	Staples (3 pack)		\$104.99			15,000	\$0.00700		
	Routine Maintenance Items	-							
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	1	\$332.22			\$15.07 \$12.56 \$11. \$15.07 \$12.56 \$11. 35,000 \$0.005 100,000 \$0.000 15,000 \$0.007 200,000 \$0.001			
40X8431	ADF Maintenance Kit		\$194.63			120,000	\$0.00162		

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 63 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 2,650-sheet input; 1,050-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; 5,000 to 35,000 pages per month recommended; quiet and eco modes

Requires Offset Stacker #24T8999, Stapler Finisher #40G0850, or 4-Bin Mailbox #40G0852

Part Number			МАР			Yield Per Item	Net Cost Per Page
		Copies			ntal Program	•	
0.470.40.4	LEVALADIZ VARZAZO MED	Minute	#7.700.00	24 MO.	36Mo.	48Mo.	60Mo.
24T8404	LEXMARK XM7170 MFP	70	\$7,793.00	\$506.55	\$392.77	\$327.31	\$292.24
	Options and Accessories		<u> </u>	1	-		
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print		Included				
	Network Print		Included				
24T7300	MX810, MX811, MX812 550-Sheet Tray		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
24T7350	MX810, MX811, MX812 2100-Sheet Tray		\$499.00	\$32.44	\$25.15	\$20.96	\$18.71
24T8999	Offset Stacker		\$149.00	\$9.69	\$7.51	\$6.26	\$5.59
40G0850	MS810, MS811, MS812 Staple Finisher		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
40G0852	MS810, MS811, MS812 4-Bin Mailbox		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
	Supply Items						
24B6020	XM 71 Series Toner		\$181.00			35,000	\$0.00517
24B6025	M/XM 51 & 71 Series Imaging Kit		\$48.00			100,000	\$0.00048
25A0013	Staples (3 pack)		\$104.99			15,000	\$0.00700
	Routine Maintenance Items			•			
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	1	\$332.22			200,000	\$0.00166
40X8431	ADF Maintenance Kit		\$194.63			120,000	\$0.00162

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 70 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 1,100-sheet input; 1,050-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; 5,000 to 35,000 pages per month recommended; quiet and eco modes

Requires Offset Stacker #24T8999, Stapler Finisher #40G0850, or 4-Bin Mailbox #40G0852
The 2100-Sheet Tray may be added to this model, but only after removing the lower 550-Sheet Tray

Part Numbe			МАР			Yield Per Item	Net Cost Per Page
		Copies			ntal Program		
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
24T8352	LEXMARK XM7170x MFP	70	\$8,695.00	\$565.18	\$438.23	365.19	326.06
	Options and Accessories						
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print	1	Included				
	Network Print	1	Included				
24T7300	MX810, MX811, MX812 550-Sheet Tray		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
24T7350	MX810, MX811, MX812 2100-Sheet Tray		\$499.00	\$32.44	\$25.15	\$20.96	\$18.71
24T8999	Offset Stacker		\$149.00	\$9.69	\$7.51	\$6.26	\$5.59
40G0850	MS810, MS811, MS812 Staple Finisher		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
40G0852	MS810, MS811, MS812 4-Bin Mailbox		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
	Supply Items						
24B6020	XM 71 Series Toner		\$181.00			35,000	\$0.00517
24B6025	M/XM 51 & 71 Series Imaging Kit		\$48.00			100,000	\$0.00048
25A0013	Staples (3 pack)		\$104.99			15,000	\$0.00700
	Routine Maintenance Items			•			
40X8420	Return Program Fuser Maint. Kit Type 11, 110-120V	1	\$332.22			200,000	\$0.00166
40X8431	ADF Maintenance Kit		\$194.63			120,000	\$0.00162

Network ready; Print, copy, scan and fax; Duplex standard; Print up to 70 ppm; 800 MHz Dual-core Processor; 1GB RAM; 160+GB hard disk; 10.2-inch customizable e-Task touch screen; Legal-size flatbed scanner; 1200 x 1200 dpi; 1,100-sheet input; 1,050-sheet output; 100-sheet multipurpose feeder; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; 5,000 to 35,000 pages per month recommended; quiet and eco modes

Requires Offset Stacker #24T8999, Stapler Finisher #40G0850, or 4-Bin Mailbox #40G0852

Part Number			MAP			Yield Per Item	Net Cost Per Page
		Copies		24 MO.	36Mo.	- Monthly Ra	60Mo.
19Z0187	LEXMARK XS860de 4 MFP	Minute 35	\$7,579.00	\$492.64	\$381.98	318.32	284.21
1920187	Options and Accessories	33	\$7,379.00	\$432.04	φ301.90	310.32	204.21
	Fax Card		Included				
	Scan to network/ e-mail	_	Included				
	Duplex copy / Print	-	Included				
	Network Print	-	Included				
15R0140	Cabinet		\$199.00	\$12.94	\$10.03	\$8.36	\$7.46
15R0146	2 x 500 Sheet Drawer		\$899.00	\$58.44	\$45.31	\$37.76	\$33.71
15R0140	2000 Dual Input Drawer		\$1,399.00	\$90.94	\$70.51	\$58.76	\$52.46
15R0120	2000 Sheet High Capacity Feeder		\$1,249.00	\$81.19	\$62.95	\$50.76	\$46.84
15R0335	2/3 Hole Booklet Finisher		\$2,699.00	\$175.44	\$136.03	\$113.36	\$101.21
15R0144	2/3 Hole Finisher		\$1,375.00	\$89.38	\$69.30	\$57.75	\$51.56
	Supply Items	<u> </u>	\$1,01010	70000	*******	*******	701100
19Z0022	XS86x - 35K toner cartridge		\$204.00			35,000	\$0.00583
19Z0023	XS86x - Photoconductor Kit		\$163.00			48,000	\$0.00340
21Z0357	Booklet Staples (4 cartridges of 5000)		\$177.50			20,000	\$0.00888
25A0013	Staple Pack (3 cartridges of 5000)		\$129.69			15,000	\$0.00865
	Routine Maintenance Items	1				· ·	
\$290.00	Fuser Maintenance Kit LV (Core Exchange)		\$290.00			300,000	\$0.00097
	ADF Maintenance Kit		\$154.36			150,000	

Model Description

1,100-sheet input; 100-sheet multipurpose feeder; time to first page as fast as 6 seconds; 500-sheet output; flatbed scanner with 75-sheet recirculationg automatic document feeder; USB and Ethernet; Front USB Direct port; PostScript 3 and PCL 6 emulations, PPDS Migration Tool; 10,000 to 39,000 pages per month recommend monthly usage; ships with 35,000-page cartridge.

Part Number			МАР			Yield Per Item	Net Cost Per Page
		Copies				- Monthly Ra	
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
19Z0189	LEXMARK XS864de 4 MFP	55	\$15,410.00	\$1,001.65	\$776.66	647.22	577.88
	Options and Accessories	-	1			-	
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print		Included				
	Network Print		Included				
15R0140	Cabinet		\$199.00	\$12.94	\$10.03	\$8.36	\$7.46
15R0146	2 x 500 Sheet Drawer		\$899.00	\$58.44	\$45.31	\$37.76	\$33.71
15R0120	2000 Dual Input Drawer		\$1,399.00	\$90.94	\$70.51	\$58.76	\$52.46
15R0145	2000 Sheet High Capacity Feeder		\$1,249.00	\$81.19	\$62.95	\$52.46	\$46.84
15R0335	2/3 Hole Booklet Finisher		\$2,699.00	\$175.44	\$136.03	\$113.36	\$101.21
15R0144	2/3 Hole Finisher		\$1,375.00	\$89.38	\$69.30	\$57.75	\$51.56
	Supply Items						
19Z0022	XS86x - 35K toner cartridge		\$204.00			35,000	\$0.00583
19Z0023	XS86x - Photoconductor Kit		\$163.00			48,000	\$0.00340
21Z0357	Booklet Staples (4 cartridges of 5000)		\$177.50			20,000	\$0.00888
25A0013	Staple Pack (3 cartridges of 5000)		\$129.69		_	15,000	\$0.00865
	Routine Maintenance Items			•			
\$290.00	Fuser Maintenance Kit LV (Core Exchange)		\$290.00			300,000	\$0.00097
\$154.36	ADF Maintenance Kit		\$154.36			150,000	\$0.00103

Network-ready; 55 ppm print, copy, fax, and scan up to 55 ppm; 800MHz Processor; 256MB RAM, 80+GB hard disk, 1200 x 1200 dpi; 1,100-sheet input; 100-sheet multipurpose feeder; time to first page as fast as 6 seconds; 500-sheet output; flatbed scanner with 75-sheet recirculationg automatic document feeder; USB and Ethernet; Front USB Direct port; PostScript 3 and PCL 6 emulations, PPDS Migration Tool; 10,000 to 39,000 pages per month recommend monthly usage; ships with 35,000-page cartridge.

	T					
Part Number			MAP			
		Copies				
		Minute				
28E0600	LEXMARK XC2132 MFP	32	\$2,459.00	\$0.0504	\$0.04	\$0.04
	Options and Accessories					
	Fax Card		Included			
	Scan to network/ e-mail		Included			
	Duplex copy / Print		Included			
	Network Print		Included			
38C0626	CS310, CS410, CS510, CX310, CX410, CX510 650	Sheet Duo	\$227			
38C0636	CS410, CS510, CX410, CX510 550-Sheet Tray		\$227			
35S8502	Adjustable Printer Stand		\$384			
57X9016	1GBx32 DDR3 RAM		\$90			
57X9012	2GBx32 DDR3 RAM		\$113			
57X9101	256MB User Flash Memory		\$67			
	Supply Items					
24B6011	Black Toner		\$ 137.00			
24B6008	Cyan toner		\$ 115.00	\$ 0.00		
24B6010	Yellow toner		\$ 115.00			
24B6009	Magenta Toner		\$ 115.00			
C540x75G	Waste		\$ 12.00			
	Routine Maintenance Items					
7pc0Z50	Black Imaging kit (Drum and developer)		\$289.55			
40X7615	Mainteance Kit		\$360.26			

Includes 1 year, parts only, warranty to dealer

Model Description

Network ready; Print, copy, scan, fax; Duplex standard; Print up to 32 ppm; 800 MHz Dual-core Processor; 512MB RAM; 4.3-inch color LCD touch screen; legal-size flatbed scanner; 1200 x 1200 dpi; 250-sheet input; 150-sheet output; USB, Gigabit Ethernet; PostScript 3 and PCL 6 emulations; pages per month recommended; quiet and eco modes

						Yield Per	Net Cost
Part Number			MAP			Item	Per Page
		opies			ntal Program		
	["	linute		24 MO.	36Mo.	48Mo.	60Mo.
34T5123	LEXMARK XS748de Color MFP	35	\$2,499.00	\$162.44	\$125.95	\$104.96	\$93.71
	Options and Accessories						
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print		Included				
	Network Print		Included				
27S2100	Lexmark C746/C748 550-Sheet Drawer		\$299.00	\$19.44	\$15.07	\$12.56	\$11.21
27S2400	Lexmark C748 2000 Sheet High Capacity Feeder		\$599.00	\$38.94	\$30.19	\$25.16	\$22.46
27S2650	Lexmark C746/C748 550-Sheet Specialty Media Dra	wer	\$359.00	\$23.34	\$18.09	\$15.08	\$13.46
27X0014	Lexmark 160GB Hard Drive		\$479.00	\$31.14	\$24.14	\$20.12	\$17.96
27S2190	Lexmark Spacer		\$109.00	\$7.09	\$5.49	\$4.58	\$4.09
34T5114	Lexmark C/X74x Caster Base		\$349.00	\$22.69	\$17.59	\$14.66	\$13.09
3052765	Lexmark Swivel Cabinet		\$249.00	\$16.19	\$12.55	\$10.46	\$9.34
	Supply Items						
24B5807	CS/XS73x Black High Yield Return Program Cartridge	(12k)	\$220.30			12,000	0.01836
24B5804	CS/XS73x Cyan High Yield Return Program Cartridge	(10k)	\$384.03			10,000	0.03840
24B5805	CS/XS73x Magenta High Yield Return Program Cartrid	dge (10k)	\$384.03			10,000	0.03840
24B5806	CS/XS73x Yellow High Yield Return Program Cartridg	e (10k)	\$384.03			10,000	0.03840
C734X20G	Lexmark Photoconductor Unit, 1-Pack (20k)		\$32.99			20,000	0.00165
C734X24G	Lexmark Photoconductor Unit, 4-Pack (20k each)		\$117.99			20,000	0.00590
C734X77G	Lexmark Waste Toner Box (25k)		\$9.99			25,000	0.00040
	Routine Maintenance Items						
40X8110	Fuser Maintenance Kit		\$195.54			100,000	\$0.00196
40X8307	ITU - Transfer Belt Maintenance Kit		\$265.24			120,000	\$0.00221
40X5187	ADF Separator Pad		\$9.61			30,000	\$0.00032
40X5188	ADF Pick Roller Assembly		\$49.67			120,000	\$0.00041
40X5189	ADF Pick Pad		\$3.46			200,000	\$0.00002

Model Description

Print, copy, scan and fax; up to 35 ppm black or color printing; Legal-size, flatbed duplex scanner; Time to first print as fast as 9 seconds; 1.2GHz Processor; USB, Gigabit Ethernet, USB Direct port for printing or scanning; duplex printing and scanning standard; 550-sheet tray and 100-sheet multipurpose feeder standard input, 250-sheet output, 50-sheet automatic document feeder; PostScript 3, PCL 6, XPS, HTML, Direct image; 512MB memory standard; 1200 x 1200 dpi printing; Ships with 6,000-page color and 6,000-page black cartridges, Eco-Mode and Quiet Mode available

When installing a 2000 or 2100 sheet input option on ANY Lexmark model, the compatible caster base is required.

		<u> </u>	1 1				
Part Number			МАР			Yield Per Item	Net Cost Per Page
		Copies		Ren	tal Program	- Monthly Ra	tes
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
47B1287	LEXMARK XS795dte Color MFP	37	\$6,400.00	\$416.00	\$322.56	268.80	240.00
	Options and Accessories						
	Fax Card		Included				
	Scan to network/ e-mail	1	Included				
	Duplex copy / Print		Included				
	Network Print		Included				
47B0110	C792, X792 550-Sheet Drawer		\$349.00	\$22.69	\$17.59	\$14.66	\$13.09
47B0111	C792, X792 2000-Sheet High Capacity Feeder		\$899.00	\$58.44	\$45.31	\$37.76	\$33.71
47B0118	C792, X792 Banner Media Tray		\$499.00	\$32.44	\$25.15	\$20.96	\$18.71
47B1100	C792, X792 Staple Finisher		\$699.00	\$45.44	\$35.23	\$29.36	\$26.21
47B1101	C792, X792 5-Bin Mailbox		\$699.00	\$45.44	\$35.23	\$29.36	\$26.21
47B1102	C792, X792 High Capacity Output Stacker		\$549.00	\$35.69	\$27.67	\$23.06	\$20.59
47B1103	C792, X792 Staple Finisher with Hole Punch		\$999.00	\$64.94	\$50.35	\$41.96	\$37.46
47B0114	C792, X792 Caster Base		\$349.00	\$22.69	\$17.59	\$14.66	\$13.09
47B0112	C792, X792 Spacer		\$169.00	\$10.99	\$8.52	\$7.10	\$6.34
27X0025	MarkNet N8250 802.11b/g/n Wireless Print Server		\$449.00	\$29.19	\$22.63	\$18.86	\$16.84
	Supply Items						
24B6022	XS795/798 Black Print Cartridge Extra High Yield Re	eturn	\$129.00			20,000	\$0.00645
24B6018	XS795/798 Cyan Print Cartridge Extra High Yield Re	eturn	\$420.00			18,000	\$0.02333
24B6019	XS795/798 Magenta Print Cartridge Extra High Yield	l Return	\$420.00			18,000	\$0.02333
24B6021	XS795/798 Yellow Print Cartridge Extra High Yield R	Return	\$420.00			18,000	\$0.02333
C792X77G	C792, X792 Waste Toner Bottle (Yield 180k black /	50k color)	\$16.12				
25A0013	Staple Pack (3 cartridges of 5000)		\$129.69			15,000	\$0.00865
	Routine Maintenance Items			l.			
40X7100	Fuser Maintenance Kit		\$292.94			150,000	\$0.00195
40X7103	Transfer Module Maintenance Kit		\$312.15			200,000	\$0.00156
40X7220	ADF Maintenance Kit		\$32.33			120,000	\$0.00027

When installing a 2000 or 2100 sheet input option on ANY Lexmark model, the compatible caster base is required.

Model Description

Print, copy, scan and fax; 10.2-inch LCD touch panel; Duplex printing standard; Up to 37 ppm black or color; 1.2GHz Processor; 1GB RAM; 160GB hard drive; 1200 x 1200 dpi; 550-sheet input from 1 drawer and 100-sheet multipurpose feede; 500-sheet output bin; Legal-size flatbed scanner with 75-sheet automatic document feeder; Single-pass duplex scanning; Time to first page as fast as 9 seconds for black or 10 seconds for color; USB and Gigabit Ethernet; Front USB direct print port; PostScript 3 and PCL 6 emulations, XPS and PPDS Migration Tool; 2,500 to 17,000 pages per month recommend monthly usage, 150,000 pages maximum monthly duty cycle; Ships with 12,000-page black and color cartridges

	<u> </u>	1	Ī	1			
Part Number			МАР			Yield Per Item	Net Cost Per Page
		Copies		Ren	ital Program	- Monthly Ra	tes
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
47B1216	LEXMARK XS798dte Color MFP	50	\$7,850.00	\$510.25	\$395.64	329.70	294.38
	Options and Accessories	-		•			
	Fax Card		Included				
	Scan to network/ e-mail	1	Included				
	Duplex copy / Print	1	Included				
	Network Print	1	Included				
47B0110	C792, X792 550-Sheet Drawer		\$349.00	\$22.69	\$17.59	\$14.66	\$13.09
47B0111	C792, X792 2000-Sheet High Capacity Feeder		\$899.00	\$58.44	\$45.31	\$37.76	\$33.71
47B0118	C792, X792 Banner Media Tray		\$499.00	\$32.44	\$25.15	\$20.96	\$18.71
47B1100	C792, X792 Staple Finisher		\$699.00	\$45.44	\$35.23	\$29.36	\$26.21
47B1101	C792, X792 5-Bin Mailbox		\$699.00	\$45.44	\$35.23	\$29.36	\$26.21
47B1102	C792, X792 High Capacity Output Stacker		\$549.00	\$35.69	\$27.67	\$23.06	\$20.59
47B1103	C792, X792 Staple Finisher with Hole Punch		\$999.00	\$64.94	\$50.35	\$41.96	\$37.46
47B0114	C792, X792 Caster Base		\$349.00	\$22.69	\$17.59	\$14.66	\$13.09
47B0112	C792, X792 Spacer		\$169.00	\$10.99	\$8.52	\$7.10	\$6.34
27X0025	MarkNet N8250 802.11b/g/n Wireless Print Server		\$449.00	\$29.19	\$22.63	\$18.86	\$16.84
	Supply Items						
24B6022	XS795/798 Black Print Cartridge Extra High Yield Re	eturn	\$129.00			20,000	\$0.00645
24B6018	XS795/798 Cyan Print Cartridge Extra High Yield Re	eturn	\$420.00			18,000	\$0.02333
24B6019	XS795/798 Magenta Print Cartridge Extra High Yield	Return	\$420.00			18,000	\$0.02333
24B6021	XS795/798 Yellow Print Cartridge Extra High Yield R	Return	\$420.00			18,000	\$0.02333
C792X77G	C792, X792 Waste Toner Bottle (Yield 180k black /	50k color)	\$16.12				
25A0013	Staple Pack (3 cartridges of 5000)		\$129.69			15,000	\$0.00865
	Routine Maintenance Items	-		<u></u>			
40X7100	Fuser Maintenance Kit		\$292.94			150,000	\$0.00195
40X7103	Transfer Module Maintenance Kit		\$312.15			200,000	\$0.00156
40X7220	ADF Maintenance Kit		\$32.33			120,000	\$0.00027

When installing a 2000 or 2100 sheet input option on ANY Lexmark model, the compatible caster base is required.

Model Description

Print, copy, scan and fax; 10.2-inch LCD touch panel; Duplex printing standard; Up to 50 ppm black or color; 1.2GHz Processor; 1GB RAM; 160GB hard drive; 1200 x 1200 dpi; 1,650-sheet input from three drawers and 100-sheet multipurpose feede; 500-sheet output bin; Legal-size flatbed scanner with 75-sheet automatic document feeder; Single-pass duplex scanning; Time to first page as fast as 8 seconds for black or 9 seconds for color; USB and Gigabit Ethernet; Front USB direct print port; PostScript 3 and PCL 6 emulations, XPS and PPDS Migration Tool; 2,500 to 17,000 pages per month recommend monthly usage, 150,000 pages maximum monthly duty cycle; Ships with 12 000-page black and color cartridges

	1						
Part Number			МАР			Yield Per Item	Net Cost Per Page
		Copies		Rei	ntal Program	- Monthly Ra	tes
		Minute		24 MO.	36Mo.	48Mo.	60Mo.
22Z0022	LEXMARK XS955dhe Color MFP	55	\$20,211.11	\$1,313.72	\$1,018.64	848.87	757.92
	Options and Accessories		-				
	Fax Card		Included				
	Scan to network/ e-mail		Included				
	Duplex copy / Print		Included				
	Network Print		Included				
22Z0015	Lexmark C950, X950 2,000-Sheet High Capacity Fe	eder A4	\$1,199.00	\$77.94	\$60.43	\$50.36	\$44.96
22Z0016	Lexmark C950, X950 Standard Finisher 3-Hole		\$1,999.00	\$129.94	\$100.75	\$83.96	\$74.96
22Z0017	Lexmark C950, X950 Booklet Finisher 3-Hole		\$3,199.00	\$207.94	\$161.23	\$134.36	\$119.96
27X0025	Lexmark MarkNet N8250 802.11b/g/n Wireless Print	Server	\$449.00	\$29.19	\$22.63	\$18.86	\$16.84
	Supply Items						
22Z0008	XS955dhe Black High Yield Toner Cartridge		\$132.31			32,000	\$0.00413
22Z0009	XS955dhe Cyan High Yield Toner Cartridge		\$626.12			22,000	\$0.02846
22Z0010	XS955dhe Magenta High Yield Toner Cartridge		\$626.12			22,000	\$0.02846
22Z0011	XS955dhe Yellow High Yield Toner Cartridge		\$626.12			22,000	\$0.02846
C950X71G	Lexmark C950, X950, X952, X954 Black Photocondo	uctor Kit	\$264.99			115,000	\$0.00230
C950X73G	Lexmark C950, X950, X952, X954 Color Photocondo	uctor Kits	\$791.99			115,000	\$0.00689
C950X76G	Lexmark C950, X950, X952, X954 Waste Container		\$32.99			30,000	\$0.00110
25A0013	Lexmark Standard Staple Cartridges		\$129.69			15,000	\$0.00865
21Z0357	Lexmark Booklet Staple Cartridges		\$177.50			20,000	\$0.00888
	Routine Maintenance Items						
40X7540	Lexmark C950, X950, X952, X954 160K Maintenand	e Kit	\$277.14			160,000	\$0.00173
40X7550	Lexmark C950, X950, X952, X954 Fuser Maintenand	ce Kit	\$801.11			320,000	\$0.00250
40X7560	Lexmark C950, X950, X952, X954 Maintenance Kit		\$2,347.18			480,000	\$0.00489
40X7530	Lexmark X950, X952, X954 ADF Maintenance Kit		\$180.07			200,000	\$0.00090

Includes 1 year, parts only, warranty to dealer

Part number 40X7540 (160,000 PM Kit) is included in both the 320,000 and 480,000 PM Kits.

Please deduct CPP according for all PM's above 160,000.

Model Description

Network ready; duplex standard; 55 ppm black or 50 ppm color; 1.2GHz Processor; 2GB RAM; 1200 x 1200 dpi printing; 3,140-sheet input (520-sheet drawer, 100-sheet multipurpose feeder and 2,520-sheet (1,133-, 867- and 520-sheet trays)) module; 500-sheet output; 110-sheet automatic document feeder: LISB and Gigabit Ethernet: PostScript 3 and PCL 6 emulations and PPDS Migration Tool. LISB direct

		_				
		_	Rental Program - Monthly Rates			
	MEMORY			48Mo.	60Mo.	
Part						
Number	Product	MAP				
	Lexmark Memory					
1022298	128MB DDR SDRAM DIMM	\$579.00	\$0.0650	\$24.32	\$21.71	
1022299	256MB DDR SDRAM DIMM	\$599.00	\$0.0650	\$25.16	\$22.46	
1022301	512MB DDR SDRAM DIMM	\$599.00	\$0.0650	\$25.16	\$22.46	
1025041	256MB DDR II SDRAM DIMM	\$599.00	\$0.0650	\$25.16	\$22.46	
1025042	512MB DDR II SDRAM DIMM	\$599.00	\$0.0650	\$25.16	\$22.46	
1025043	1GB DDR II SDRAM DIMM	\$859.00	\$0.0650	\$36.08	\$32.21	
13N1523	128MB DDR SDRAM DIMM	\$579.00	\$0.0650	\$24.32	\$21.71	
13N1524	256MB DDR SDRAM DIMM	\$599.00	\$0.0650	\$25.16	\$22.46	
13N1526	512MB DDR SDRAM DIMM	\$599.00	\$0.0650	\$25.16	\$22.46	
57X9016	1GBx32 DDR3 RAM	\$79.00	\$0.0650	\$3.32	\$2.96	
57X9012	2GBx32 DDR3 RAM	\$99.00	\$0.0650	\$4.16	\$3.71	
57X9014	512MB DDR3 SO-DIMM	\$59.00	\$0.0650	\$2.48	\$2.21	
57X9011	1GB DDR3 SO-DIMM	\$79.00	\$0.0650	\$3.32	\$2.96	
			\$0.0650	\$0.00	\$0.00	
14F0245	256MB User Flash Memory	\$399.00	\$0.0650	\$16.76	\$14.96	
57X9101	256MB User Flash Memory	\$59.00	\$0.0650	\$2.48	\$2.21	
			\$0.0650	\$0.00	\$0.00	
			\$0.0650	\$0.00	\$0.00	
27X0014	160GB Hard Drive	\$ 479.00	\$0.0650	\$20.12	\$17.96	
27X0200	160+GB Hard Disk	\$479.00	\$0.0650	\$20.12	\$17.96	
27X0210	160+GB Hard Disk	\$479.00	\$0.0650	\$20.12	\$17.96	

Application Solutions Options - All MFPs

Part Number	Product				
			Rental Program - Monthly Rates		
			1 3		,
	Lawrence MED. Application Colutions Outions			48Mo.	60Mo.
	Lexmark MFP - Application Solutions Options	MAP		40IVIO.	OUIVIO.
	For XM & MX Series	WAI			
	CX310 Forms and Bar Code Card	\$379.00	\$0.0504	\$15.92	\$14.21
38C5050	CX310 PRESCRIBE Card	\$199.00	\$0.0504	\$8.36	\$7.46
38C5051	CX410 Forms and Bar Code Card	\$379.00	\$0.0504	\$15.92	\$14.21
		*			
38C5053	CX410 PRESCRIBE Card	\$199.00	\$0.0504	\$8.36 \$15.92	\$7.46 \$14.21
38C5054	CX510 Forms and Bar Code Card	\$379.00	\$0.0504		
38C5055	CX510 PRESCRIBE Card	\$199.00 \$379.00	\$0.0504	\$8.36	\$7.46
	MX71x/MX81x Forms and Bar Code Card	*	\$0.0504	\$15.92	\$14.21
	MX71x/MX81x IPDS Card	\$569.00	\$0.0504	\$23.90	\$21.34
24T7353	MX71x/MX81x PRESCRIBE Card	\$199.00	\$0.0504	\$8.36	\$7.46
35S5888	MX410, MX510, MX511 Forms and Bar Code Card	\$379.00	\$0.0504	\$15.92	\$14.21
35S6850	MX610/MX611 Forms and Bar Code Card	\$379.00	\$0.0504	\$15.92	\$14.21
35S5889	MX410/MX510/MX511 Card for IPDS	\$569.00	\$0.0504	\$23.90	\$21.34
35S6851	MX610/MX611 Card for IPDS	\$569.00	\$0.0504	\$23.90	\$21.34
35S5890	MX410/MX510/MX511 PRESCRIBE Card	\$199.00	\$0.0504	\$8.36	\$7.46
35S6852	MX610/MX611 PRESCRIBE Card	\$199.00	\$0.0504	\$8.36	\$7.46
			\$0.0504	\$0.00	\$0.00
22G0350	X644e / X646e Bar Code Card	\$362.00	\$0.0504	\$15.20	\$13.58
22G0351	X644e / X646e Card of IPDS and SCS/Tne	\$565.00	\$0.0504	\$23.73	\$21.19
22G0352	X644e//x646e/X646dte PrintCryption Card	\$218.00	\$0.0504	\$9.16	\$8.18
22G0354	X644e / X646e PRESCRIBE Card	\$199.00	\$0.0504	\$8.36	\$7.46
22G0353	X644e / X646e Forms Card	\$380.00	\$0.0504	\$15.96	\$14.25
21J0577	X782e Bar Code Card	\$362.00	\$0.0504	\$15.20	\$13.58
21J0579	X782e Card for IPDS and SCS/Tne	\$899.00	\$0.0504	\$37.76	\$33.71
21J0578	X782e Forms Card	\$380.00	\$0.0504	\$15.96	\$14.25
21Z0367	X94xe Bar Code and Forms Card	\$379.00	\$0.0504	\$15.92	\$14.21
21Z0368	X94xe Card for IPDS and SCS/Tne	\$899.00	\$0.0504	\$37.76	\$33.71
	X94xe PrintCryption Card	\$218.00	\$0.0504	\$9.16	\$8.18
			\$0.0504	\$0.00	\$0.00
26G0050	Lexmark X548 Forms and Bar Code Card	\$379.00	\$0.0504	\$15.92	\$14.21

T	1	T	T		
26G0051	Lexmark X548 Card for IPDS	\$899.00	\$0.0504	\$37.76	\$33.71
26G0052	Lexmark X548 Card for PRESCRIBE Emulation	\$199.00	\$0.0504	\$8.36	\$7.46
MS00498	X734e and X736e IPDS	\$565.00	\$0.0504	\$23.73	\$21.19
MS00497	X734e and X736e Forms + Bar Code	\$380.00	\$0.0504	\$15.96	\$14.25
34T5120	Lexmark X746, X748 Series MFPs Forms and Bar Code Card	\$380.00	\$0.0504	\$15.96	\$14.25
34T5121	Lexmark X746, X748 Series MFPs Card for IPDS	\$565.00	\$0.0504	\$23.73	\$21.19
34T5122	Lexmark X746, X748 Series PRESCRIBE Card	\$199.00	\$0.0504	\$8.36	\$7.46
47B1110	X79X Forms and Bar Code Card	\$380.00	\$0.0504	\$15.96	\$14.25
47B1111	X79X Card for IPDS	\$899.00	\$0.0504	\$37.76	\$33.71
47B1112	X79X PRESCRIBE Card	\$199.00	\$0.0504	\$8.36	\$7.46
24Z0041	X925 Forms and Bar Code Card	\$380.00	\$0.0504	\$15.96	\$14.25
24Z0042	X925 IPDS Card	\$899.00	\$0.0504	\$37.76	\$33.71
24Z0043	X925 PRESCRIBE Card	\$199.00	\$0.0504	\$8.36	\$7.46
22Z0185	Lexmark X95x Forms and Bar Code Card	\$379.00	\$0.0504	\$15.92	\$14.21
22Z0186	Lexmark X95x Card for IPDS	\$899.00	\$0.0504	\$37.76	\$33.71
22Z0187	Lexmark X95x PRESCRIBE Card	\$199.00	\$0.0504	\$8.36	\$7.46
			\$0.0504	\$0.00	\$0.00
34S7720	X46Xe IPDS	\$565.00	\$0.0504	\$23.73	\$21.19
34S7721	X46Xe Forms + Bar Code	\$380.00	\$0.0504	\$15.96	\$14.25
16M1253	X65x Forms & Bar Code	\$380.00	\$0.0504	\$15.96	\$14.25
16M1254	X65x IPDS	\$565.00	\$0.0504	\$23.73	\$21.19
16M0119	Lexmark X65x Card for PRESCRIBE Emulation	\$199.00	\$0.0504	\$8.36	\$7.46
19Z0031	X860de/X862de/X864de Card for IPDS and SCS/Tne	\$565.00	\$0.0504	\$23.73	\$21.19
19Z0030	X860de/X862de/X864de Forms and Bar Code Card	\$380.00	\$0.0504	\$15.96	\$14.25
19Z4039	X860e, X862e, X864e PRESCRIBE Emulation	\$199.00	\$0.0504	\$8.36	\$7.46
			\$0.0504	\$0.00	\$0.00
57X9000	Lexmark PrintCryption Card	\$218.00	\$0.0504	\$9.16	\$8.18
16A1092	Lexmark Forms Composer v3.3 CD		\$0.0504	\$0.00	\$0.00
	'		\$0.0504	\$0.00	\$0.00
	Lexmark - Print Servers & CAC Reader		\$0.0504	\$0.00	\$0.00
27X0025	MarkNet N8250 802.11b/g/n Wireless Print Server (US/Americas)	\$449.00	\$0.0504	\$18.86	\$16.84
14F0037	MarkNet N8120 Gigabit Ethernet Print Server	\$149.00	\$0.0504	\$6.26	\$5.59
14F0042	MarkNet N8130 Fiber Ethernet Print Server	\$499.00	\$0.0504	\$20.96	\$18.71
57X0020	CAC Reader SF/MFP X46x, X65x, X73x, X792, X86x, X925, X945	\$498.00	\$0.0504	\$20.92	\$18.68
27X0225	MarkNet 8350 802.11 b/g/n Wireless Print Server	\$199.00	\$0.0504	\$8.36	\$7.46
27X0129	MarkNet 8352 802.11 b/g/n Wireless Print Server (MX310/MX410)	\$49.00	\$0.0504	\$2.06	\$1.84
27X0903	MarkNet 8350 802.11 b/g/n Wireless Print Server* (MX510/MX610)	\$99.00	\$0.0504	\$4.16	\$3.71
3053996	Large Pod for Lexmark PKI Card Reader	\$26.99	\$0.0504	\$1.13	\$1.01
11K2990	International Printing for mySAP Business Suite	\$157.00	\$0.0504	\$6.59	\$5.89

Lexmark International, Inc.

52 Rosedown Dr.
Destrehan, LA 70047
985-307-0057
Paul Schmidt
pschmidt@lexmark.com

RJ Young

194 Business Park Dr.
Ridgland MS 39157
601-709-0370
Chris Smith
Chris.smith@rjyoung.com

Toshiba Business Solutions

103 Business Park Dr.
Suit D
Ridgland, MS 39157
601-957-0130
George Brooks
gbrooks@tbsmississippi.com